St - ISt

F606 =1 = 5828 (K)

AR B & FE %R\ AR B & FiE %{E
NbM13 K 300 180 60| EF K 450 368 285
AIRF K 150 85 20| HxF K 533 383 233
Ty E 367 224 gol Z7owal)— E 150 110 70
A4 K 275 171 67| ——LA2X # | 1,700 700 300
—oTy K 300 190 8o|sy—>Y—> % || 1,800 1,000 500

¥ K | 1,200 775 350|F 4 oH4A %% 90 75 60
OR K 360 295 230

LAX [ 1,500 950 400

NIYy4 K 300 200 100

av¥y & 60 35 10

ATy K | 1,900 #vALUE! -

L>ay K — #VALUE! -

A3 P 150 110 70

aoh K 950 663 375

A K 460 390 320

Fayl #5 || 1,800 1,400 1,000

c<k # || 1,700 1,000 300

E—<>r &% 110 100 90
RoLovD R 90 75 60

FR K 425 363 300

ARF+ K 195 165 135

-5 3 — #VALUE! -

E—X K || 1,600 #VALUE! -

VoI A K 2,200 #VALUE! —

HhE K | 1,000 650 300

AAH E — #VALUE! -

A4F3 P 400 250 100

TRV K 250 150 50

o3 % || 5800 4,150 2,500

INTF 7 | 3400 2950 2500
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7K R 40 25 10|F942L—y P 350 300 250
INAZ R 50 35 20 TISL P — #VALUE! -
H<n 29k 180 135 90

Saetl N5 4 SN 160 140 120

FRAINTGHR K 290 210 130
BE R — #VALUE! -
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